



Some Properties Of Anti L-fuzzy Subnearrings Of A Nearring

* B. Thenmozhi ** Dr. S. Naganathan *** Dr. K. Arjunan

* Assistant Professor, Department of Mathematics, Syed Ammal Engineering College, Ramanathapuram

** Professor, Department of Mathematics, Syed Ammal Engineering College, Ramanathapuram

*** Professor, Department of Mathematics, H.H.The Rajahs College, Pudukkottai

ABSTRACT

In this paper, we made an attempt to study the algebraic nature of anti L-fuzzy subnearring of a nearring.

Keywords : L-fuzzy set, L-fuzzy subnearring, anti L-fuzzy subnearring

Introduction

There are many concepts of universal algebras generalizing an associative ring $(R, +, \cdot)$. Some of them in particular, near rings and several kinds of semi rings, have been proven very useful. An algebra $(R, +, \cdot)$ is said to be a nearring if $(R, +)$ is a group and (R, \cdot) is a semi group satisfying $a \cdot (b + c) = a \cdot b + a \cdot c$, for all a, b and c in R . After the introduction of fuzzy sets by L.A.Zadeh, several researchers explored on the generalization of the concept of fuzzy sets. The notion of fuzzy subnearring and ideals were introduced by S.Abou Zaid. In this paper, we introduce some theorems in anti L-fuzzy subnearring of a nearring.

Preliminaries

Definition

Let X be a non-empty set. A L-fuzzy subset A of X is a function $A: X \rightarrow L$.

Definition

Let R be a nearring. A L-fuzzy subset A of R is said to be a L-fuzzy subnearring (LFSNR) of R if it satisfies the following conditions:

- (i) $\mu_A(x \cdot y) \geq \mu_A(x) \wedge \mu_A(y)$,
- (ii) $\mu_A(xy) \geq \mu_A(x) \wedge \mu_A(y)$, for all x and y in R .

Definition

Let R be a nearring. A L-fuzzy subset A of R is said to be an anti L-fuzzy subnearring (ALFSNR) of R if it satisfies the following conditions:

- (i) $\mu_A(x \cdot y) \leq \mu_A(x) \vee \mu_A(y)$,
- (ii) $\mu_A(xy) \leq \mu_A(x) \vee \mu_A(y)$, for all x and y in R .

Definition

Let R be a nearring. An anti L-fuzzy subnearring A of R is said to be an anti L-fuzzy normal subnearring (ALFNSNR) of R if it satisfies the following conditions:

- (i) $\mu_A(x+y) = \mu_A(y+x)$,
- (ii) $\mu_A(xy) = \mu_A(yx)$, for all x and y in R .

Definition

Let A and B be L-fuzzy subsets of sets G and H , respectively. The anti product of A and B , denoted by AxB , is defined as

$AxB = \{(x, y), \mu_{AxB}(x, y) \mid \text{for all } x \text{ in } G \text{ and } y \text{ in } H\}$ where $\mu_{AxB}(x, y) = \mu_A(x) \vee \mu_B(y)$.

Definition

Let A be a L-fuzzy subset in a set S , the strongest anti L-fuzzy relation on S , that is an anti L-fuzzy relation on A is V given by $\mu_V(x, y) = \mu_A(x) \vee \mu_A(y)$, for all x and y in S .

Properties Of Anti L-Fuzzy Subnearring Of A Nearring

Theorem

Union of any two anti L-fuzzy subnearring of a nearring R is an anti L-fuzzy subnearring of R .

Proof

Let A and B be any two anti L-fuzzy subnearrings of a nearring R and x and y in R .

Let $A = \{(x, \mu_A(x)) \mid x \in R\}$ and $B = \{(x, \mu_B(x)) \mid x \in R\}$ and also let $C = A \cup B = \{(x, \mu_C(x)) \mid x \in R\}$, where $\mu_C(x) = \mu_A(x) \vee \mu_B(x)$.

Now, $\mu_C(xy) = \mu_C(xy) \vee \mu_C(xy) \leq \{\mu_A(x) \vee \mu_B(y)\} \vee \{\mu_B(x) \vee \mu_A(y)\} = \{\mu_A(x) \vee \mu_B(x)\} \vee \{\mu_A(y) \vee \mu_B(y)\} = \mu_C(x) \vee \mu_C(y)$.

Therefore, $\mu_C(x \cdot y) \leq \mu_C(x) \vee \mu_C(y)$, for all x and y in R .

$$\begin{aligned} \mu_C(xy) = \mu_A(xy) \vee \mu_B(xy) &\leq \{\mu_A(x) \vee \mu_B(y)\} \vee \{\mu_B(x) \vee \mu_A(y)\} \\ &= \{\mu_A(x) \vee \mu_B(x)\} \vee \{\mu_A(y) \vee \mu_B(y)\} \\ &= \mu_C(x) \vee \mu_C(y). \end{aligned}$$

Therefore, $\mu_C(xy) \leq \mu_C(x) \vee \mu_C(y)$, for all x and y in R .

Therefore C is an anti L-fuzzy subnearring of a nearring R .

Hence the union of any two anti L-fuzzy subnearrings of a nearring R is an anti L-fuzzy subnearring of R .

Theorem

The union of a family of anti L-fuzzy subnearrings of a nearring R is an anti L-fuzzy subnearring of R .

Proof

Let $\{V_i \mid i \in I\}$ be a family of anti L-fuzzy subnearrings of a nearring R and

$$\text{Let } A = \bigcup_{i \in I} V_i. \text{ Let } x \text{ and } y \text{ in } R.$$

$$\begin{aligned} \text{Then, } \mu_A(x \cdot y) &= \bigvee_{i \in I} \mu_{V_i}(x \cdot y) = \bigvee_{i \in I} \{\mu_{V_i}(x) \vee \mu_{V_i}(y)\} \\ &= \{\bigvee_{i \in I} \mu_{V_i}(x)\} \vee \{\bigvee_{i \in I} \mu_{V_i}(y)\} \\ &= \mu_A(x) \vee \mu_A(y). \end{aligned}$$

Therefore, $\mu_A(x \cdot y) = \mu_A(x) \vee \mu_A(y)$, for all x and y in R .

$$\mu_A(xy) = \bigvee_{i \in I} \mu_{V_i}(xy) = \bigvee_{i \in I} \{\mu_{V_i}(x) \vee \mu_{V_i}(y)\}$$

$$\begin{aligned} &= \{\bigvee_{i \in I} \mu_{V_i}(x)\} \vee \{\bigvee_{i \in I} \mu_{V_i}(y)\} \\ &= \mu_A(x) \vee \mu_A(y). \end{aligned}$$

Therefore, $\mu_A(xy) \leq \mu_A(x) \vee \mu_A(y)$, for all x and y in R .

That is, A is an anti L-fuzzy subnearring of a nearring R .

Hence, the union of a family of anti L-fuzzy subnearrings of R is an anti L-fuzzy subnearring of R .

3.3 Theorem

If A and B are any two anti L-fuzzy subnearrings of the nearrings R_1 and R_2 respectively, then anti-product AxB is an anti L-fuzzy subnearring of $R_1 \times R_2$.

Proof

Let A and B be two anti L-fuzzy subnearrings of the nearrings R_1 and R_2 respectively.

Let x_1 and x_2 be in R_1 and y_1 and y_2 be in R_2 .

Then (x_1, y_1) and (x_2, y_2) are in $R_1 \times R_2$.

Now, $\mu_{AxB}[(x_1, y_1)-(x_2, y_2)] = \mu_{AxB}(x_1-x_2, y_1-y_2) = \mu_A(x_1-x_2) \vee \mu_B(y_1-y_2)$

$$\leq \{\mu_A(x_1) \vee \mu_A(x_2)\} \vee \{\mu_B(y_1) \vee \mu_B(y_2)\}$$

$$= \{\mu_A(x_1) \vee \mu_B(y_1)\} \vee \{\mu_A(x_2) \vee \mu_B(y_2)\}$$

Therefore, $\mu_{AxB}[(x_1, y_1)-(x_2, y_2)] \leq \mu_{AxB}(x_1, y_1) \vee \mu_{AxB}(x_2, y_2)$.
 Also, $\mu_{AxB}[(x_1, y_1)(x_2, y_2)] = \mu_{AxB}(x_1x_2, y_1y_2) = \mu_A(x_1x_2) \vee \mu_B(y_1y_2)$

$$\leq \{\mu_A(x_1) \vee \mu_A(x_2)\} \vee \{\mu_B(y_1) \vee \mu_B(y_2)\}$$

$$= \{\mu_A(x_1) \vee \mu_B(y_1)\} \vee \{\mu_A(x_2) \vee \mu_B(y_2)\}$$

$$= \mu_{AxB}(x_1, y_1) \vee \mu_{AxB}(x_2, y_2)$$

Therefore, $\mu_{AxB}[(x_1, y_1)(x_2, y_2)] \leq \mu_{AxB}(x_1, y_1) \vee \mu_{AxB}(x_2, y_2)$.
 Hence AxB is an anti L-fuzzy subnearring of nearring of $R_1 \times R_2$.

Theorem

Let A and B be L-fuzzy subsets of the nearings R_1 and R_2 respectively.

Suppose that e and e^{-1} are the identity elements of R_1 and R_2 respectively.

If AxB is an anti L-fuzzy subnearring of $R_1 \times R_2$, then at least one of the following two statements must hold: (i) $\mu_B(e^{-1}) \leq \mu_A(x)$, for all x in R_1 ,

(ii) $\mu_A(e) \leq \mu_B(y)$, for all y in R_2 .

Proof

Let AxB be an anti L-fuzzy subnearring of $R_1 \times R_2$.

By contraposition, suppose that none of the statements (i) and (ii) holds.

Then we can find a in R_1 and b in R_2 such that $\mu_A(a) < \mu_B(e^{-1})$ and $\mu_B(b) < \mu_A(e)$.

We have, $\mu_{AxB}(a, b) = \mu_A(a) \vee \mu_B(b) < \mu_B(e^{-1}) \vee \mu_A(e) = \mu_A(e) \vee \mu_B(e^{-1}) = \mu_{AxB}(e, e^{-1})$.

Thus AxB is not an anti L-fuzzy subnearring of $R_1 \times R_2$.

Hence either $\mu_B(e^{-1}) \leq \mu_A(x)$, for all x in R_1 or $\mu_A(e) \leq \mu_B(y)$, for all y in R_2 .

3.5 Theorem

Let A and B be two L-fuzzy subsets of the nearings R_1 and R_2 respectively and AxB is an

anti L-fuzzy subnearring of $R_1 \times R_2$. Then the following are true:

- (i) if $\mu_A(x) \geq \mu_B(e^{-1})$, then A is an anti L-fuzzy subnearring of R_1 .
- (ii) if $\mu_B(x) \geq \mu_A(e)$, then B is an anti L-fuzzy subnearring of R_2 .
- (iii) either A is an anti L-fuzzy subnearring of R_1 , or B is an anti L-fuzzy subnearring of R_2 .

Proof

Let AxB be an anti L-fuzzy subnearring of $R_1 \times R_2$ and x, y in R_1 and e^{-1} in R_2 .

Then (x, e^{-1}) and (y, e^{-1}) are in $R_1 \times R_2$. Now, using the property that $\mu_A(x) \geq \mu_B(e^{-1})$,

for all x in R_1 , we get, $\mu_A(x-y) = \mu_A(x-y) \vee \mu_B(e^{-1}-e^{-1}) = \mu_{AxB}((x-y), (e^{-1}-e^{-1}))$

$$= \mu_{AxB}[(x, e^{-1})-(y, e^{-1})]$$

$$\leq \mu_{AxB}(x, e^{-1}) \vee \mu_{AxB}(y, e^{-1})$$

$$= \{\mu_A(x) \vee \mu_B(e^{-1})\} \vee \{\mu_A(y) \vee \mu_B(e^{-1})\} =$$

$\mu_A(x) \vee \mu_B(y)$

Therefore, $\mu_A(x-y) \leq \mu_A(x) \vee \mu_B(y)$, for all x and y in R_1 .

Also, $\mu_A(xy) = \mu_A(xy) \vee \mu_B(e^{-1}x) = \mu_{AxB}((xy), (e^{-1}e^{-1})) = \mu_{AxB}[(x, e^{-1})(y, e^{-1})]$

$$\leq \mu_{AxB}(x, e^{-1}) \vee \mu_{AxB}(y, e^{-1})$$

$$= \{\mu_A(x) \vee \mu_B(e^{-1})\} \vee \{\mu_A(y) \vee \mu_B(e^{-1})\} =$$

$\mu_A(x) \vee \mu_B(y)$.

Therefore, $\mu_A(xy) \leq \mu_A(x) \vee \mu_B(y)$, for all x and y in R_1 . Hence A is an anti L-fuzzy subnearring of R_1 . Thus (i) is proved.

Now, using the property that $\mu_B(x) \geq \mu_A(e)$, for all x in R_2 , let x and y in R_2 and e in R_1 .

Then (e, x) and (e, y) are in $R_1 \times R_2$.

We get, $\mu_B(x-y) = \mu_B(x-y) \vee \mu_A(e-e) = \mu_{AxB}(e-e, (x-y)) = \mu_{AxB}[(e, x)-(e, y)]$

$$\leq \mu_{AxB}(e, x) \vee \mu_{AxB}(e, y)$$

$$= \{\mu_A(e) \vee \mu_B(x)\} \vee \{\mu_A(e) \vee \mu_B(y)\} =$$

$\mu_B(y)$

$\mu_B(x) \vee \mu_B(y)$

Therefore, $\mu_B(x-y) \leq \mu_B(x) \vee \mu_B(y)$, for all x and y in R_2 .

Also, $\mu_B(xy) = \mu_B(xy) \vee \mu_A(ee) = \mu_{AxB}(ee, (xy)) = \mu_{AxB}[(e, x)(e, y)]$

$$\leq \mu_{AxB}(e, x) \vee \mu_{AxB}(e, y)$$

$$= \{\mu_A(e) \vee \mu_B(x)\} \vee \{\mu_A(e) \vee \mu_B(y)\} =$$

$\mu_B(x) \vee \mu_B(y)$.

Therefore, $\mu_B(xy) \leq \mu_B(x) \vee \mu_B(y)$, for all x and y in R_2 .

Hence B is an anti L-fuzzy subnearring of a nearring R_2 . Thus (ii) is proved. (iii) is clear.

Theorem

Let A be a L-fuzzy subset of a nearring R and V be the strongest anti L-fuzzy relation of R. Then A is an anti L-fuzzy subnearring of R if and only if V is an

anti L-fuzzy subnearring of $R \times R$.

Proof

Suppose that A is an anti L-fuzzy subnearring of a nearring R.

Then for any $x = (x_1, x_2)$ and $y = (y_1, y_2)$ are in $R \times R$.

We have, $\mu_V(x-y) = \mu_V[(x_1, x_2) - (y_1, y_2)]$

$$= \mu_V(x_1 - y_1, x_2 - y_2)$$

$$= \mu_A(x_1 - y_1) \vee \mu_A(x_2 - y_2)$$

$$\leq \{\mu_A(x_1) \vee \mu_A(y_1)\} \vee \{\mu_A(x_2) \vee \mu_A(y_2)\}$$

$$= \{\mu_A(x_1) \vee \mu_A(x_2)\} \vee \{\mu_A(y_1) \vee \mu_A(y_2)\}$$

$$= \mu_V(x_1, x_2) \vee \mu_V(y_1, y_2)$$

$$= \mu_V(x) \vee \mu_V(y)$$

Therefore, $\mu_V(x-y) \leq \mu_V(x) \vee \mu_V(y)$, for all x and y in $R \times R$.

$$\mu_V(xy) = \mu_V[(x_1, x_2)(y_1, y_2)] = \mu_V(x_1y_1, x_2y_2) = \mu_A(x_1y_1) \vee \mu_A(x_2y_2)$$

$$\leq \{\mu_A(x_1) \vee \mu_A(y_1)\} \vee \{\mu_A(x_2) \vee \mu_A(y_2)\}$$

$$= \{\mu_A(x_1) \vee \mu_A(x_2)\} \vee \{\mu_A(y_1) \vee \mu_A(y_2)\}$$

$$= \mu_V(x_1, x_2) \vee \mu_V(y_1, y_2)$$

$$= \mu_V(x) \vee \mu_V(y)$$

Therefore, $\mu_V(xy) \leq \mu_V(x) \vee \mu_V(y)$, for all x and y in $R \times R$.

This proves that V is an anti L-fuzzy subnearring of $R \times R$.

Conversely assume that V is an anti L-fuzzy subnearring of $R \times R$, then for any $x = (x_1, x_2)$

and $y = (y_1, y_2)$ are in $R \times R$,

we have $\mu_A(x_1-y_1) \vee \mu_A(x_2-y_2) = \mu_V(x_1-y_1, x_2-y_2)$

$$= \mu_V[(x_1, x_2) - (y_1, y_2)]$$

$$= \mu_V(x-y)$$

$$\leq \mu_V(x) \vee \mu_V(y)$$

$$= \mu_V(x_1, x_2) \vee \mu_V(y_1, y_2)$$

$$= \{\mu_A(x_1) \vee \mu_A(x_2)\} \vee \{\mu_A(y_1) \vee \mu_A(y_2)\}$$

If we put $x_2 = y_2 = 0$, we get, $\mu_A(x_1 - y_1) \leq \mu_A(x_1) \vee \mu_A(y_1)$, for all x_1 and y_1 in R.

$$\mu_A(x_1y_1) \vee \mu_A(x_2y_2) = \mu_V(x_1y_1, x_2y_2)$$

$$= \mu_V[(x_1, x_2)(y_1, y_2)]$$

$$= \mu_V(xy)$$

$$\leq \mu_V(x) \vee \mu_V(y)$$

$$= \mu_V(x_1, x_2) \vee \mu_V(y_1, y_2)$$

$$= \{\mu_A(x_1) \vee \mu_A(x_2)\} \vee \{\mu_A(y_1) \vee \mu_A(y_2)\}$$

If we put $x_2 = y_2 = 0$, we get $\mu_A(x_1y_1) \leq \mu_A(x_1) \vee \mu_A(y_1)$, for all x_1 and y_1 in R.

Therefore A is an anti L-fuzzy subnearring of R.

Theorem

If A is an anti L-fuzzy subnearring of a nearring $(R, +, \cdot)$, then $\mu_A(-x) = \mu_A(x)$

and $\mu_A(x) \geq \mu_A(0)$, for x in R, 0 is the identity element of R.

Proof

For x in R and 0 is the identity in R.

Now, $\mu_A(x) = \mu_A(-(-x)) \leq \mu_A(-x) \leq \mu_A(x)$.

Therefore, $\mu_A(-x) = \mu_A(x)$, for all x in R.

Now, $\mu_A(0) = \mu_A(x-x) \leq \mu_A(x) \vee \mu_A(-x) = \mu_A(x)$.

Therefore, $\mu_A(0) \leq \mu_A(x)$ for all x in R.

Theorem

If A is an anti L-fuzzy subnearring of a nearring $(R, +, \cdot)$, then $\mu_A(x-y) = \mu_A(0)$ gives $\mu_A(x) = \mu_A(y)$, for x and y in R and 0 is the identity in R.

Proof

Let x and y in R and 0 is the identity element of R.

Now, $\mu_A(x) = \mu_A(x-y+y) \leq \mu_A(x-y) \vee \mu_A(y) = \mu_A(0) \vee \mu_A(y) = \mu_A(y) = \mu_A(x-x-y)$

$$\leq \mu_A(x-y) \vee \mu_A(x) = \mu_A(0) \vee \mu_A(x) = \mu_A(x)$$

Therefore, $\mu_A(x) = \mu_A(y)$, for all x and y in R.

Theorem

A is an anti L-fuzzy subnearring of a nearring $(R, +, \cdot)$ if and only if

$\mu_A(x-y) \leq \mu_A(x) \vee \mu_A(y)$, $\mu_A(xy) \leq \mu_A(x) \vee \mu_A(y)$, for all x and y in R.

Proof

Let A be an anti L-fuzzy subnearring of a nearring $(R, +, \cdot)$ and x and y in R.

Then, $\mu_A(x-y) \leq \mu_A(x) \vee \mu_A(-y) \leq \mu_A(x) \vee \mu_A(y)$.

Therefore, $\mu_A(x-y) \leq \mu_A(x) \vee \mu_A(y)$. Clearly $\mu_A(xy) \leq \mu_A(x) \vee \mu_A(y)$.

Conversely, if $\mu_A(x-y) \leq \mu_A(x) \vee \mu_A(y)$, $\mu_A(xy) \leq \mu_A(x) \vee \mu_A(y)$, for all x and y in R, replace y by x, then $\mu_A(x) \geq \mu_A(0)$, for all x in R.

Now, $\mu_A(-x) = \mu_A(0-x) \leq \mu_A(0) \vee \mu_A(x) = \mu_A(x)$.

Therefore, $\mu_A(-x) \leq \mu_A(x)$, for all x in R.

It follows that, $\mu_A(x+y) = \mu_A(x-(-y)) \leq \mu_A(x) \vee \mu_A(-y) \leq \mu_A(x) \vee \mu_A(y)$.

Therefore, $\mu_A(x+y) \leq \mu_A(x) \vee \mu_A(y)$, for all x and y in R.

Clearly, $\mu_A(xy) \leq \mu_A(x) \vee \mu_A(y)$, for all x and y in R.

Hence A is an anti L-fuzzy subnearring of R.

Theorem

Let A be a L-fuzzy subset of a nearring $(R, +, \cdot)$.

If $\mu_A(e) = 0$ and $\mu_A(x-y) \leq \mu_A(x) \vee \mu_A(y)$, $\mu_A(xy) \leq \mu_A(x) \vee \mu_A(y)$, then A is an anti L-fuzzy subnearring of R, for all x and y in R and e is the identity element of R.

Proof

Let x and y in R and e is the identity element of R.

Now $\mu_A(-x) = \mu_A(e-x) \leq \mu_A(e) \vee \mu_A(x) = 0 \vee \mu_A(x) = \mu_A(x)$.

Therefore, $\mu_A(-x) \leq \mu_A(x)$, for all x in R.

Now, $\mu_A(x+y) = \mu_A(x-(-y)) \leq \mu_A(x) \vee \mu_A(-y) \leq \mu_A(x) \vee \mu_A(y)$.

Therefore, $\mu_A(x+y) \leq \mu_A(x) \vee \mu_A(y)$, for all x and y in R.

Clearly, $\mu_A(xy) \leq \mu_A(x) \vee \mu_A(y)$, for all x and y in R.

Hence A is an anti L-fuzzy subnearring of R.

REFERENCES

ARXIV-0710.3884V1(MATH.RA)20 OCT 2007, 1-16, Davvaz.B and Wieslaw.A.Dudek, Fuzzy n-ary groups as a generalization of rosenfeld fuzzy groups. | 2. Fuzzy sets and systems, 44(1991), Abou Zaid. S, On fuzzy subnearring rings and ideals, 139-146. | 3. Fuzzy sets and systems, 105, 181-183 (1999), Asok Kumer Ray, On product of fuzzy Subgroups. | Fuzzy sets and systems, 37, 359-371 (1990), Dixit.V.N., Rajesh Kumar, Naseem Ajmal., Level subgroups and union of fuzzy subgroups. | Information and control, Vol.8, 338-353 (1965), Zadeh.L.A., Fuzzy sets. | International Journal of Computational and Applied Mathematics, Volume 2 Number 1(2007), pp. 714, Akram.M and Dar.K.H, Fuzzy left h-ideals in hemirings with respect to a s-norm. | Journal of mathematical analysis and applications, 84, 264-269 (1981), Sivaramakrishnadass.P, Fuzzy groups and level subgroups. | Punjab university journal of mathematics, 37(2005), 61-76, Akram.M and Dar.K.H, On fuzzy d-algebras. | University of Delhi Publication Division, July-1993. Rajesh Kumar, Fuzzy Algebra, Volume 1.